Klammere geeignete Faktoren aus

6 z2x2 - 18 zx3

=62zx?- (1z - 3x)

36 y2d - 12 yd2

1/35 y2b - 50 yb =5yb - (7y-10)
2116 y3c + 48 y2C =16 y%c - (1y + 3)
3122 c3y - 16 ¢? =2c2-(1l1lcy- 8)
4120 yx? + 20 yX =20yx - (Ix+ 1)
535 ch? -5 chs =5cb2- (7 - 1b)
620b2+ 12D =4Db-(5b+3)
7|36 c2-44cd =4c¢2-(9-11c)
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=12 yd - (3y - 1d)
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18y + 48 y8

=6y-(3+38y?)
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42 z2Cc + 54 zc + 6yC

=6¢C-(722+9z + 1y)
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42 7?2y + 60 zy - 12zy?

=6yz-(7z+ 10 - 2y)

=
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12 yc + 20 yz - 8zc

=4 - (3yc + byz - 2zc)

=
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30 z2x - 25 zx - 10 z3x

=52zx-(6z-5- 273
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30 x2c + 15 xc? - 15a2c

=15c - (2x2 + 1xc - 1a?)

=
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16 z2d - 10 z2d2 - 6zd?

=2dz - (8z-5zd - 3d)

=
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28 x2 - 32 xb + 4xbh?

=4 x-(7x-8b+ 1b?)

=
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24 7?da + 60 z3da? + 36z0d2

=12 zd - (2za + 5z2a? + 3d)

=
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36 c3a + 40 c2a? + 4ca3

=4 ac - (9c2 + 10ca + 1a?)




